* Complete the conversation between Emily and Kirsten with the correct
comparative forms of the adjectives in brackets.

E: Two boys want to go to the end of school dance with me.
K: Who?
E: Wayne and Theo.

K: Well, go with Wayne. He's ®hore handsone (handsome) than Theo.

He's 1 {thin) too.
E: Well, Theo isn't fat! Anyway, Wayne is 2 (boring) than Theo.
Theo is ? (funny) than Wayne and he's # (intelligent).

Yes, Wayne doesn't know anything!
K: ... so, gowith Theo.

E: Well ... Wayne's got a car so he can drive me home. Theo lives ° (far)

from me than Wayne and Theo hasn’t got a car.

| don't want to ask my parents to collect me. It's a difficult decision.

K: Yes, butit isn't (difficult) than deciding what to wear.

That's impossible! Which dress do you think looks best on me?



